AR 63324

lll Semester B.Com. Examination, April/May 2023
(CBCS) (Repeaters)
COMMERCE
3.6 : Quantitative Analysis for Business Decision - Il

Time : 3 Hours Max. Marks : 70

Instruction : Answer should be written completely either in English or Kannada.

SECTION - A
1. Answer any five sub-questions. Each question carries two marks. (5%2=10)

a) Define the term Regression.
T, SMOITIITY 539,859, VA
b) What is probable error ?
ROPRNEOD TWRR OTTERO 2
c) If N=15, Xxy = 122, ox.= 3.1623, oy = 3.464, find ‘r’.
N =15, 2xy = 122, dx = 3.1623, dy = 3.464 =50 IHRoLOFTIY, 50REEOND.
d) State the merits of sampling.
BRTOCD LWTCIRNTRY SR,
e) Expand (y—-1)*=0
(y=1)°=0 a8 F0R.

f) State the components of time series.
REOCIL FTEIeCDT oINTTY S9R.

g) Write any two types of events.
CINF)TOTICD HTBO PLINERY AlefeubleR

P.T.O.
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SECTION =B

Answer any three questions. Each question carries six marks. (3x6=18)

5 Find the index number for 2006 from the following table of index numbers using
binomial expansion method.

Year 2004 2005 | 2007 | 2008

Index No. 300 . 321 471 636

2006 e BT BRUI), 08T It ERE3TOT Wovielgielafiviapiaviereluy T IT QATIVTY,
FORILEOD.

5 2004 2005 | 2007 | 2008
ReuE, oF 300 321 471 636

3. Calculate the two regression equations from the following data .
X =20,Y=12,8x=5,8y =25,r=0.8.

SN DTTNLOT TR L 0WLFO :sa’msasma:% BORIHROD.

X =20,Y =12,8x = 5,8y =25,r=0.8.. o
AN =
4. What are the different types of probability sampling techniques ? ‘f'.,“
TOLTRRCT BRTOOD B0B,T LFTED CIRT) ? \-
AN S
5. Find the rank correlation for the following data and give your comments : A {iEs :
Marks in Accounts (X) | 84 | 56 |89 | 58 | 59 | 67 | 74 | 78
Marks in Maths (Y) 38 |69 | 56|58 |63 (78|87 77

39803 QRTNFR0ON 3,668 BFT FOWOTTTY FORL AW T[0T 3,83, VA

4}

S3TITY 00870 (X) 84 | 56 |89 58|59 [67|74]| 78
Ressm @S wosned (V) | 38 [ 69 | 56 | 58 | 63 | 78 | 87 | 77

6. Calculate the probability of picking a card out of a pack.
a) a diamond or a spade.
b) a King or a Queen.

WOT) T,B VR DSNPQ, 20T ENYR 033, WA
a) 2,000 B0’ BT LoD R et YRR Bricdoos HoydRRecdT R, ?
b) 2,003 Dot LT L0830 Toed RSEIRY, Jricdosm RoIRReoT ), ?
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SECTION-C

Answer any three questions from the following. Each question carries fourteen
marks. (3x14=42)

7. Obtain the two regression equations from the following data and estimate the
value of X when Y = 50 and the value of Y when X = 45.

X | 40 | 50 | 38 | 60 | 65 | 50 35
Y | 38 | 6055 "70" o0 NE 30

391t BRe500E QEOMPOT RS totsesion FEEsEYR) o 88080, Tort Y = 50
B X WSO RFY X = 45 2wnt Y Loy BomdEGROWD.

X | 40 | 50 | 38 | 60 | 65 | 50 | 35
Y | 38 | 60 | 65 | 70 | & P SE"""30

8. Estimate the sales for the year 2005 and 2015 from the following table.
3t dedgom TeIoor 2005 =0 2015 Fe ST TVROMWTEY, LOTRR IR,

;;a; 1990 [ 1995 | 2000 | 2005 | 2010|2015 | 2020
/S Sales (in '000 tonnes)

9. Compute Pearson’s correlation co-efficient for the following data and also
calculate the probable error.

Supply
(quintals) 3029|129 |25(24 (24 |24 |121|18| 15

PriceR) | 11]12]13[14| 15|16 |17|18|19| 20

Fon ﬁ.@éﬁfbﬁ ATWTIRO BB WSewon ONTHZ T ﬁz:ééomow :\a‘a@‘:ﬁowoqﬁwﬁg{
e?sa&md TIB Tone B0PReoD 3T FOTIHROWO.

NTWTTD
(308 e) 30(29(29 (25|24 |24 |24 |21|18| 15
w

WS R) 111213 |14| 15| 16|17 |18 ]| 19| 20
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10. Calculate trend values by the method of least squares from the following data
given below :

Year 2001 | 2002 |2003|2004 | 2005 | 2006 | 2007 | 2008
Sales 80 90 92 [ 83 | 94 89 g2 100

Plot the value on a graph and estimate the sales for the year 2010.
TR, [NF LISBY, 2,080 FOY T3 GO BRODAD Tone Teauws o, 8,0
ISR, MBI W03 2010 T LS00 TIRNTHITT FORIELERAO.

RRE 2001 | 2002 |2003 2004|2005 | 2006 | 2007 | 2008
TIRTOE 80 90 g2 83 124 99 92 100

11. From the following table find the number of students who have obtained less
than 50 marks using Newton’s method.

Marks 20-30{30-40 |40-50|50-60 [60-70
No. of Students 31 42 51 35 31

B3 FPNT LWONPOT 50 S0FNYNOT FREO WILT e, HF N :jc;.‘ia,cxba”x.gL SIOREY
BB S0DY, FOWORRAWD.

508D 20 — 30 |30 — 40 {40 —50{50—-60 (60— 70
TR, HETY Bosd, 31 42 51 35 31




